@I IR T 8 e, HIAT SFTeTe
TT-3033-39
o2 '8 QI 4
@T S - TR orar
G YT (AP 96 FJaAET &A% ¢ o 6 ¢ AT |

AT P03
THIF-3 BIFT ([@AG-205

GG TS 2010 ST SR | G T4 AT 06 HACAETT G (02 (AT I S¢o A, $a¢ &IV, o
QM |

P, 5o (2

<. FTRCAGICRR PRl TR HRLerp- T 59 |

o, TRINCHT FETCSF AT of5a T8 o Wz &= FIoIc 9% 4 |

q. 7% ¢&d fofers 205 Seitr @it saw fSeftm o=y B o e fore |
o+ Ted

w 6 LU v

P TR TR Teq
G SYIGST SRR IR N1 I G T o @ A SR (C5T AT & | @ FHE 5o |

Y TR QTHT TeT
FERCATTE (ARIGR elfofl wIZAce Sl ST FC1 S R, AP I8 770 (@RCH G
S[{M FCA | THRECE Fifore @M a8 TR B e Wqqm 30d | THREEH affslt =18t
TP AT AW DR W FCE GR TR 9T APCT S I3 =0 T, 58 F018eT1 A5+ Beiid
GIANC ¥ 0 | THRCAGIRA (@ ST A9 1 R TR T oA @M FA00 2 | FHARAEE
T QPR NG 3 7 MORER SGAM A0S 2 1 | JOAR THRCAGIERT eI ISR QLS |

o TR AT TGRR ACAGRN LIoPTR:

TId P 06 ACAER 1% Gere = &y GFIviE f7es Sgreia a1 == :

2171

a=150, b=175, c=210

I

avg=(at+b+c)/3

!

print avg

l

q R SCH TECH ATAGAH LI7PTR:

AN (Fre:

Pl 1



# include <stdio.h>
int main()
{
int a,b,c, s,av,tqty;
printf("\n Enter three Apple Quantity: *);
scanf("%d %d %d",&a, &b, &C);
s=(at+b+c);
av=s/3;
tqty=av*20;
printf(*\n The Sum of three apple weight. is %d",s);
printf("\n The Average weight of three apple. is %d",av);
printf("\n The total weight of 20 apple. is %d" tqty);
return O;
}
FEIpeT:
Enter three Apple Quantity :150 175 210
The Sum of three apple weight. is 535
The Average weight of three apple. is 178
The total weight of 20 apple. is 3560
TCC &¥:oR
TWI#F-2 BIFT ([G-2056

fSe5a TwioiT 7T W et Ted whe:
# include < stdio.h >

int main ()

{

inta,s=0,n;

print (“value of n,”);

scanf (“%d”, & n

{

S=s+a*a;

}

print (“sum ; %d”, s);
return O;

}
F. AGL 32 N

4, C-a3f5 &1 WrGe SrE-3B T 39 |
o, TwoltHa (RIBT @ et ooy syesifaws fore ©
q. Twit for 5o/ #&cs Do....while T 35327 96 (@@iors [ w@oeg st =@
e 39 | 8
o+ Teq

b,

T TR AT T
4GL @ 171 4™ Generation Language | 31 56 Soecas T gpfod o |
9 TR GTHF Teq

Pl : 2



C & (& GEIDS (@R (@5 1 = | FR9- C (@RITTE 7K (@RI (=5 20ed T o1ite =7 | iR C
S (N PGS | qTo SHREA SN AR ALY ALY S SR FRC THICAT T | SHREE ORI
NCST A0S (B 2CO IIH(F oy (BoT 512t fea Frer 41 T |
N TR AT TR TG TR
TP (AT FTE ZCAN 1422432+ +n? TTfRTe™ @ree o a1 | Wee (ammba syEeifims
Togo 4T 20T
qr-y : (R O |
qro- @ 3990 fReE N @3 W g7 |
qrof-0 : QT , @ S G FISTE a, IWa 99 S =0, a =1,
qIol-8 : IM i<=n SI2(F RSl 4171-¢ @ TF | AHAR 47-Y @ T |
q7-¢ : S HFCRA W S = S + a*a SR @I IR | ICRE W a = a +1 e I | a3 FTSt
q1-8 @ fFa T |
Q=Y : T WLfR S @ T e T |
qI7l-b- : T2 (9 |
q R SCeH TeCH QTG Q7P

QR (Fre:
# include <stdio.h>
int main()
{
int a,s=0,n;
printf("value of n:");
scanf("%d",&n);
a=1;
do
{
s=st+a*a,;
at++;
Iwhile(a<=n);
printf(*'sum:s%d",s);
return O;
}
TP
value of n:5
sum:55
ATTT 09
T 7150 AEHIRT ([A6-2055

fCoa THIoIHT 1T G TR ©6d AlS:-
# include < stdio.h >
int main (')

{

inta,s;
s=0;

Pl : 3



for(a=1la<=30,a+=2
}
print (“sum =%d”,s);
return O;
F. WAFS *7F Fr?
LK++ 8+ + K-G0 |
o, TR (ARNBT T @0 v oEe 9 |
9. SwoIta 2@ while oot 359es 63 tofd 41 7181 5 w1-f{eerae 394 |

T T&d

T TR AT T
MARFS W% I F GAC T (AT IJIZS FOFE [T =3 I (A T4 TN JI© 27 | SqS
AT =TT SAT R |

o 6 LU v

q TR AT T
K ++ AT (IPBRAGG T (IPDIF | (IPBRAT &ACT I A0 BACH W SRR I | ST FATACEST
T 1 g AT 1+ K =0T REREers 9 fifere | feifre 49ty Weess e 1 @l 6 | O TS

I AT 5516 BT IR B |
o TR AT TGRR ATAGN LIoPTR:
Tt (T 2 143+5+........... +n @35 Fifee | fw @3 s @eE Soige 4 2@

995 n |

s=0,a=1, n=30

S=s+c, l
a=a+2 [SiE)

BT T: 4



q R CH TECH ATAGT LI7PTR:
Ttz for loop #R&cs while loop 77=@ 33 (ot 41 78T | Gor (ARNGTe @ Ao Fare
20 o foimg:
AN (Fre:
# include <stdio.h>
int main()
{
int a,s;
s=0;
a=1;
while(a<=30)
{
S=s+4a;
a+=2;
}
printf(*'sum=%d",s);
return O;

}
e
sum:255

AT 4%:08
TaI9%-8 IO TAG-2055

o TrIPBh YT W3R eeTETd BB WTs:-

#include<stdio.h>

int main ()

{

inti;

for (i=20; i<=50; i=i + 5)
{

printf("%d ",i);

}

return O;
}
F. JOIT ?
<, variable ++ @2 ++ variable €= s3- I 9 |
o, TR (@RNGTS @ T TS TR, OF A5 (FLIS |
q. Sl (EoT Seoo0 (TS |

EUACCRCICE

o 6 LU v

T TR AT T
& *1% el T T A1 = | AR [0 T | CCNHC 2R F12, (I Al (FICAT (FIC 7, 58 (2N 6719
T (AR @RIF RS 927 341 = |

9 TR GTHF Teq
variable ++ 2T (APBEGEG Al (IFBRES | (AIPTIFE Q=TT I AT HoCHA N YRR I | OFF
A0SR W 1 I #A1C3 1++ variable =¢T Rigfrws 21 feifrey | feifrer @y weiicaces s 1 @ 6 |
ORI TS N ATCH 51 I SGIAIE A |

B R: 5



o TR AR TSR ATAG LIoPTR:
a7t for l00p It I CACE | 05 97 167 Sogro 412G :
for loop syntax ze=:
coutner declaration;
for(initial value;test condition;increment/decrement value)

{

}
BT (@RIt RICAT GOETTs e SifepaR e w919 &= for loop 5727 <41 =7 | 5+7 41 variable <=

3 I TR wRfe 27, o f[«ifie =71 @ gaea w1 FIEHR e #Affos | coutner declaration
SRTH (THIGIRAPTR FICHE CAFel 41 =¥ | initial value ==T SICGIe ke W+ | test condition ke
FICTIEE *IF T A T =S (AT AT | increment/decrement Skex fedid SRASTT FISHR AT 5oL
/3 [ ERe T = | FCOR A goie W 1 (ARl e w1 =S ey A o for loop @w
AR AT EBOCID TS 20O AT |

statement;

q TR T TG A L#7=:
T (ARG AR (TR =T R T[T fmg:
AR (Fle:
#include<stdio.h>
int main ()
L
int i
for (i=20; i<=50; i=i + 5)
{
printf("%d ",i);
¥

return O;

}

TP

20 25 30 35 40 45 50

T @RNGTS int i) 5o el | =eaer | @it for (i=20; i<=50; i=i + 5) 7A [T I AR |
92 T SREF T 2 =20 | T W & 1<=50; %% 5 AT | &S i=i + 5 IV | Aeoo5
EBoer printf("%d Vi) IR M TRR |G w20 25 30 35 40 45 50
Tgfe 2T |

ACT YY:0¢
TaoF-¢ T TAC-2055

S5 Twieis AT R SRSt TB AS:-
# Include (stdio.h)

int main ()

inti, S=0;

{

Pl : 6



Print f (“Enter last number=")
Scan f(“%d”,n)

1 =10;

while (i < n)

{

S=S+i

i=1+10

}

Print f (“Sum = %d” s)

return O;

F. (TTIF T3 J?
4. C 8 C ++ g oy foger Fre 145 34 |
o, T (NG TR 4

q. TP (RN goto T fWea IR FWI-TAae |

T T&d

P TR AT TR
stdio.h ==l C c@aics 9o (xe 13T | T& FIReT printf() TR 3941 weac= | =T printf() FiR=w
(R HI=E Fe=T Stdio.h (@eR FIRFM0 (@RI Tepe FCS = |

q R T T
51 20eT GrFeIe (@i o | atE @iffees St @ifie AreetEes 39 21 | BT «9 BFe weEed =@
C ++ =1 @ G AR TR, IR @t T{qres ARACEET @il I 3 | 7 @@iesg T
CIME P+ @IRITT R | 741 BT (@™ B+ 97 Seee 66 P+ @i B (@@ite Seee 97 | ol

1 8 P++9q sty foger T |

o TR ATHT TR ATAG LI2PTR:
THRTCT T <071 =7 AP(BuUg) | RIS TRRITNS «R 9ot FREAYCAS &Afemn = e |

# Include (stdio.h)

Include @< | 9T =TSs (w311 =ewew | (stdio.h)
@ JICRG (AT AR |

int man ()

{

Print f (“Enter last number="")

Print f @ P I© ateg (Al 2acz | t @ T @g
O FIFICPRT ACCR | GOOECHA C*ICT | (Al
] |

Scan f(“%d”,n);

Scan f @9 S 9@ TCOT MAT ZEACR | N G fyag
T FFCHT IECE | N GF AT & AT
TS T |GOOCNCoT (*ITT | Rl T |

| =10 5T RO | 209 (el 1 2R 58 I772e
R | |

while (i < n) 5T RROTE N %4 Caraelt 41 =34 |

S=S+i GBOINCHR C*ICF | (A3 3 |

Pl : 7
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I=1+10

COLINCHT (*TT ; (Wl =30 |

}
{Print £ (“Sum = %d” s)

}

Print fa P 3© qces qar zaacz | t @R f @
T FIFIC™R AR | GHONCoT (0T | (AT
| <7 9F |, (7 =AW | GOOTCDT (I |
A = |

ReHifES @R e
#include<stdio.h>

int main ()

{

inti, s=0, n;

printf ("\nEnter last number=");
scanf ("%d", &n);

i =10;

while (i<=n)

t

S=S+I;

i=i+10;

}

printf ("Sum = %d",s);

return O;

}

TP

Enter last number:40

The Sum of the Series is:100

T TR AT O LG LIoPTR:

Talcaa @G if goto T B eI (TR RETT IR Tl fmgot:

QN (Fre:
#include<stdio.h>
int main()
{
inti, n,s;
printf("\n Enter last number ");
scanf("%d", &n);
s=0;
1=10;
level:

S=S+i;

I=i+10;

Pl : 8



if (i<=n) goto level;

printf("\n The Sum of the Series is: %d ",s);
return O;

}

TP

Enter last number:40

The Sum of the Series is:100

TCC &¥:0Y

TloI-b FING! TAG-2056

U5 MR @ e (2l 7% 39 -
# include < stdio.h > # include < stdio.h >
int main () int main ()
{ {
inta=10, b =15; inta, b, c;
intc= a+b; scanf (%d %d”, &a. &b);
printf(“%d”,c); c=a+hb;
return O; (=03 printf(“%d”,c); -0
} return 0;

}
T, TF D2

4. scanf (%f, &a); GEOCFGG =T 34 |
. (RN-5 GF RO TF 4 |
T, -5 8 @RN-3 G T4 FFOCP 9f Tew I WA T2 Reager= s Tore wie |

EUACCRCICE

w 6 LU v

P TR TR Teq
ISP A ON9 G5 T/ T @ e S sifefes = A
TR GTIF Teq

Tmreite scan f (“%f”, & a);

Qe , %f == float cebT B2 format specifications | == &a == address of a ar fqois 3=
float 51279 a (SRRER (IR @ETFN @A (T6] MIAFS 2 |

o TR ACHT TR ATAS LIoPTR:
THIACHT (2T ST ZCAT @ ety ar | e iamiba syrersifavs Sorgrsie 4T 20

Pl : 9



q TR T TG LT L#TR:
TrIta Ao (RITTR W45 ZCS @RM-2 T | Nem @7 T (7T =

S, (AR - @ (B6T 2925 (MK T (72 BIFe Ho1epa W 2 U 0 (Ml =0A0% S0 @k ¢ | 58
ERT-2 @ FIRFTFET (©OT 2775 re AT |

3. TR -2 @ 395 GOOCNT IR I 2CACR | A6 S (=TT G&*E7 | IRFRE! e Qe
S W ET5 TS 2103 | 7 ST FeA s =T |
@ G C3MBy REIoy e <=1 T3, (@i -3 @R (@RN-2 @3 T 20O (@RT-2 TS |

[T &%:09
Tl A%- Pl TAC-2055

fir. X 71t frma 2050 Ot 5IFATS @MW FE | T 2fSdita aue «3fs Ffrsfacas s cofi w41

¥, ql HIEAR “ifore (B6T1 GG Faes #i1ta | . X @3 51T pfefofes aeam afs 4 (vr) e =« #7
SRFCT (@TS =T |

F. (TO] FIACIVFT Fr2 5

<, {059 SRS &7 W (F AT F;

ab —c, main, int, 2abc.

o, T NS TG A9 3961 39 | ©

9. & T 5. X (@ SIetEes SIiet 409 ©f aw{ag o B oe i @4 | 8
TEH Tex

T TR AT TS
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(P! (TOICF GF PACHE 20O O BEATHIF [Pl G TSR 200 W) TSR0 FIeR [5RAT IS
TEO! S [0 ZFREd 2fGIE (B5T BT |
4 T ACHF Teq

TH] AME BRI (e & 73 S T {6 (al =ee e

>. ab —C TR0 O T IR HRGCO [ JIZCR(-) IR I JCAE |

R. Main oG & TF FRe HERG 7 (T FreAe 2 I I |

©. iNt 550 & 97 FIRE S0 1 (@RI TRAFFS 1% I FIeATS |

8. 2abC oL &a T FIF HEICPT FICNT $FCO IRAJT [T 34 A 1 |

N TR AT TR TG LR

TIIICF TR TS (C6T GHANG Sred T4 TRCR | AR Aff SAGHT F183M |

FIRAR NAGF IR OF TR 0L FICHCR * G TG | P12 FAGF IR (FCHA F1 SR Hiferr,

b ST TR ATH e tofd | Fives ffer 2o =@ 9w A< =T are Electrical Interference

(72 | (T FIAC (COT PrEeE 2R o® 26T ONe (72 | JICHF N« M NS TRIFORC (To] &I 2 0T

@3 9ifs ST (@ =T |

Gfty FeTRGRI FPIRIcTa ARRTS =11R5 P G B | G S 54 e afow safers (o

TS (AP WY N A | TR NABCH 0 S WRIF© qold @ACS AF; @Ted (Laser) ar &1

(LED-Light-emitting diode) “=fere | FIRIM WK FTaE IS T8 @RROM (F@ T [IXO

= | IR @O CORER (57 1T [TORAEH R T I, (GrFS IS @ | IO JI%© T2 AT

FIRCR (COT Gt fyrwesed 100 Mbps At 2 Gbps #4827 |

FoT:

IHRE Q@R IS T | PR AW @S ([IHEETR Ty [Reeeng Sy 2eT-Sfs 2ogel,

TR el 1 fNiERTer, Fee AfeFmeast @ereT | T I FIRAE Fiee Few A5 9ze =7

T | TR AABrHa foas =t A | -

(®) R : foorma TR-2EFhE @ IF IPT 8 (AtF 100 MG = ACF | FABHE FIRIF FRCEE
GTHANE OO @T I T (I | TR T4 0T A Dot AerEw 367 | @it Bifes oo @05 T
w2 A5 e o |

R) IR : Fwa =G FEaRE Wit 3@ =itz Fifer (Cladding) 3 o= (Kevlar) =2t
G @F 2 T (ofF @ AT ST FA0o AT | GF T ALF© 2K AT FRER 14 Mo
=T A @TS AT | FMT GF IFPT ARG S3¢ WA |

(©) EICRG : WA RONT & I | FRER 847 208 W (e syieas =1 =7 | «ft 75,
BT, TS, T A (AT T DA |

Jacket (plastic) \
Sheath Jacket
Cladding (glass)

Core (glass)

4)’;/ Side view of Single fiber
Cort Cladding

5@: w133 96 e End view of a sheath with three fib¢

RIESIEA KIS E RS IREIE

o IETHHPIGT TCON WP FRF© A RIGCH #HTY =1 0T G dfGTECT=I (72 1R 5eeT | Aibferze
T QAP G WA T Bt S gy +14e Sfoers S0 Al |

P

11



o  FI3JF FADF F[E EMI (72 31 «fb 319 gt 929 41 I, O (@R SAP SR G e
SR IO |

o «ft IEFHFE PrATER “fHACS N 1 25 HroeE GG 67 |

o WIS AT 7 o ef i AR STS (THT T (TH F& 715 A |

o s Gbps @& 1 OF (OCT @I SFSTS (THT beT5+T TS AT |

(ORI IR RONF TR FABF FI9eT A«F %0 27 |

q R CeH TECH ATAGT Q7P
T TR SACTICS 2= W1 3. X (@ OifRet=ies S w03 ©f ev#te &) B S @i et 2=
#include<stdio.h>
int main()
{
printf(*\n December 2018 Working Date: ");
intc;

for (c=1;c<=31;c=c+4)
{
printf("\n The Date: %d ",c);

}

return O;
}
TEFe:
December 2018 Working Date:
The Date: 1
The Date: 5
The Date: 9
The Date: 13
The Date: 17
The Date: 21
The Date: 25
The Date: 29
ACOH YY:obr
TWI?I-b BIAT TAG-200

feeos Triorels 2IC R HeTeT Tex nie:-
(90)*+ (80)* + (70)*+......con..... + (20)?
T, IeTS J?
<, 57 1 number’ SER ASF 515 TH-TT 74 |
o, Swlta PREfox oay Syermiims e |
g, Twte fifReoa & if @3 goto CHETTS A= 6 I SR (i 774 |

EUACCRCICE

o 6 LU v

T T ATET TG
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MAFFS *7 I I ST ZE (TN TIXS FOISE [T *1 T (@ I01 AN FIZ© 7 | ST
(@ T I 7 |

4 R ACHF Teq
AR AN I WL NERICANS FERT 20 | 551« fefet a1 =% WMo o 2o A 1 | @5 =-
number-1 %3« 51 58 1 number SitIY | 5o NICNE N0 (I TP FF ARFE 1 | Sodre qiv [
v 907 997 @@ee #i <1 number’ SRR AGF 5516 77 |

o TR TR TG LTSI LIPTIR:
T (AT FIE 20T 90+80°+70%+......... +20° FfcE e fadfa w41 | 9@ c@aba
SR S PR 20
qro-y : (Rg O |
qro- @ 3990 fReiE N @3 W g7 |
qiol-9 : QT , @IF SUM R FIEBR ¢, Twa I S =0, ¢ =90
r7-8 : I C>=20CI( *RIS! GIol-¢ Q@ TS | AR GI7-Y @ T |
qM7-¢ : S HFLRA W S = S + C*C SRR @F IR € Ho1a W= ¢ = ¢ -10 iy 37 | «qre o7
q7-8 @ I I |
oY @ T SRR SUM @ T G I |
qI7-b : TR (<1 |

q TR T TG T L#TqR:
T SCECP AT AT W, X @ SIRISTEITS S S0 ©f dwtad & B SRR @it g =03
#include<stdio.h>
main()
{
intc, n,s;
s=0;
c=90;
level:
s=s+(c*c);
c=c-10;
if (c>=20) goto level;
printf("\n The Sum of the Series is: %d ",s);
return O;
}
FoIpeT:
The Sum of the Series is:28400
AT g¥:05
o[- HOA TAG-2055

o7 Talolo T IR =T R Ted wie:-
Q- : (A BF |

g-3: X, Y8 Z @ I« &= |

qro-o : e X > Yam X > 7 2

P
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(i) =57 =0T, 417-8 @ % |

(ii) =7 =7, 419f-¢ @ oI |

-8 : X I MR TANE AR GR 49H-br @ 93 |
qiof-¢ : Prafe: Y > Z 2

(i) =57 =T, ¥-v @ o1 |

(i) =7 =T, 4ro1-q @ 9 |

-y : Y IT MY 8 B R AR 4A-b @ 99 |
q7-q : Z I8 M 8 [ |

q9-b : (™ 1Y |

F. 551 PI? N

. math.h =20 I+ | 3

o, TwIoHF GFIBTG NE | ©

q. TwIoF TPTI0 06fB M & 2= 2975 F91 & | 36 M@ 5579 Mewelfre 3 T

I & B SR G5 (2 o179 dfeiBe ndwer A61R 39 | 8
FUACDRCICE
P TR ATHT T
CC ST TR TR N T G0 N e @ NN A (T5T A 27 | @ FINS B |
Y TR QTHT TeT

math.h =T @36 RO T8 | @ FIEE fofod @Ee [Rew g ARG TR @@ A40F | 928l @2
FIRC 5 &7 (SRR, FHBID , SGIFOR TN ATHIBIR (Il 4T ST |
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o TR TR TG TG LIPTIR:

Tt (AR 2T foaqfb A N4y 2re I8 s 47 | fem Swioies ave syeifivs spre S

FIBIG SAY= AT =

2071

ivﬁ@bsc

Yes
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T R TR TECRA AT LoPT=:
T SCCP AT AT W, X @ SIRISTEITS S S0 ©f dwtas & B SRR @it g =03
#include<stdio.h>
#include<conio.h>
main()
{
int ar[5],c,hi;
printf("\n Enter 05 Numbers:");
for(c=0;c<5;c=c+1)
{
scanf("%d",&ar|[c]);
}
hi= ar[0];
for(c=0;c<5;c=c+1)
{
if(ar[c]>hi)
hi=ar[c];
¥
printf("\n The Highest Number of the Array=%d",hi);
getch();
¥
FeIpeT:
Enter 05 Numbers: 15 45 50 43 13
The Highest Number of the Array=50
ACT Do
TaioF-y0 T TAC-205%

feea Twia(l e R 2Rt Teq nie:-
#include<stdio.h>
#include<math.h>
void main ()
t
int i,n,sum;
printf("\nEnter the value of n *);
scanf ("%d", &n);
sum = 0;
for (i=1; i<=n; i++)
{
if (i==3)continue;
sum =sum +pow(i,2);

¥
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printf("\nResult = %d", sum);
return O;

;mﬁ‘lﬁ-aﬂaﬁa‘ﬁ?
¥, BT A0 NGRCHE FIRF F1 M-I @14 |
o, SwtE Sfife @rRmba syEefiims @19
. N 9T T 5 20T Tt (@G e [ 391
T T6F
T TR AT T

w 6 U v

TR IR ST (T 409 @0 = OIS 1 DI 7 (=& ™o @b 90T | (2iRlty $eT (O5T 2995 et w2

(COR TG 3 1 AT AGF T WA T |
q TR AT T

TCHIRT SHTCGRT TP TR 1 PR G0 AN 0T @ FCE SR (THT AT & | @ L 5o | R e
HeTCR AINpce o AfE fsiae qcaee | G0 ST e TR 20 CHRIET SRR @N: $.1,@ 4%+ .-

o7 AT 1 I A1 | OCF CHE HIERIE NORCHT () HIRE B AR [8wigel: roll_number
o TR ACHT TR ACASG LIoPTR:

TR (TG B 20T 1242%43%4..... +n? PifTE™ @ oy <5 | e eawfbe syeafavs

Torgo 41 2

q-> : (ItNg B |

qrof-2 : 3970 fRea N @9 W g7 |

qiof-9 : G, @IF SUM R BB i, Awd 9 sum =0, i =1
qro-8 : AW i<=N O[RC TS 4I7-¢ @ AMF | AHAR 4r94-9 @ JF |
q7-¢ : =3 SIRCT AFIS! 471-8 @ A | TR #4-Y G AT |

q7-b : SUM B1CRF A sum = sum + pow(i,2) e @t «a ¢ b1t W | = | +1 oReeT

S4S 4171-8 @ AT |
q91-q : TP 92Afe sum @ T g S |
q-b : TN (9T |

q TR 2THF TG ARG LI2PTR:

N 93 T 5 20 TwIAH (@RNDT T [N qrst [P Sy F1 20T
gr9i-3: i=1, n=5, sum=0,

i=3 17 (@R ey W@, FeAR , sum=0+1%=1
qro-2: i=1+1=2,2<=5 2 =57

w]IE, 2=3 {2 =1 ey 7, TeaR , sum=1+2°=5
qro-o: |=2+1=3,3<=5 {7 271

IR, 3=3 fF2 1, ToAR , AT AT SARICS o G A |
qr9-8: i=3+1=4,4<=5fF? 3y

w4, 4=3 2 1, 3oy =7, JoaR , sSum=5+4°=21
qri-¢: i=4+1=5, 5<=5 2 251

[, 5=3 &2 71, oy T, (R Ty T, FoAR , sum=21+5°=46
qrof-v: i=5+1=6, 6<=5 &2 =1, 7%y 77,

AR AT @ ~Rie 7% =@ A3 | Result=46 &% =3 |
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ACOH =5
TaIo5-53 e TAMG-205%

o7 Talofo 7o 1R TR Tex wie:-

# include < stdio.h >

int man ()

{

int n,y=0

for(i=7;1<=70;1=1+7)

s=s+1;

printf(“%d, s);

return O;

}
F. IRV @ 2 5
4. YOG (@R SR 97 TI-515T 9 | N
o, TWCRA (ARNGT G o%w 94 | ©
9. St @@ do ... while 9 Mt «s_oE T5491 99 T i-93

AT O N FIRFSEN IRIC! es AR | 8
T 86

P TR ACHT T
T (2T B TARINCE (I Ol 1 T8 SR @M A I8 (AR FARRS B (7 (RN =T
QM (AT |
MR AR Ted
farss *=t IqCeT WG Fiyl 1 =9 | SRR o7 77 | LCIHC TR (12 (FC Il (FICA! (FC 77, 58 (@T 6414
TR @S @RI FfRaed IR 9 =1 9t eafe o[y Fiive oy fAoas a1 Gooers | «ft st
E@EIRR SRR @7 [OTIe 77 | CRICAT (AR SR P (@RNE ACCIHIeT NG TRCS TG
T |
o TR ACHT TR ATASG LIoPTR:
TWICPT (2N BT 7+14+21+........... +n @5 Pifer | 98 @2 ifeeR @FIoIc Sy Far =@ :

21718
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J
976 nJ |
$=0,i=7, n=70
l No
S=s+c, |
I=i+7 (S5
q TR T TG L L#7q=:

Tw2a (@ do----while o =R I EAR @G 0, @A FIRTIE! SRS o [
955 TTe #{1=ea | e g
QT (Fle:
#include<stdio.h>
int main()
{
int n,s=0,i=7;
printf("\n Enter the value of n: *);
scanf("%d", &n);
s=0,i1=7,
do
t
S=S+i;
I=i+7;
Iwhile(i<=n);
printf("\n The Sum of the Series is %d ",s);
return O;

}
TP

Enter the value of n: 70

The Sum of the Series is5:385
TCC DR

Taro-32 freTered tare-208s
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sfore e BT Fica Joes cwazst fda sar orafe BRI | sreice WG s 3 +6 + 9 + ..., N
PriEta Qe @RifR @7 TN R | REEER et SIS 030 T (I MG 5T (0 T |
. SEETIRTS 2 >
<, AR R (2 T 4 | N
o1, sifers frmrsa fercar faeafba v et earefog o= <4 | ©
q. SIS R MR s BF s e forg | 8

T T6F
T TR ATHT T
T IR TP ALY & (e 8 (RARIRPOIF TS e A8 Semiqws 96T |
TR AT T

TR T G AR Ng_EMd @R A FR @Teoe o iiie @mmibee Giffe o[ se@am 36 |
FIZE T (R GFANCY W IR, T @R 41027 1o 7o = | IR @i 6 4icz st
A | R AT IR IR T 20 ARTOCS NF 187 STAG =7 A1 | A (HICA] T AR
QAN VT I QRS T (@NCF 58 T AR [O12 S@WM (AR R FoARR R |

o TR ST TS G Yo7
SIS PICT J08T CFaeT (e (<RI =T | T8 Joea cazest etz (Fivis / erRive Sogreaal Je=:

2071

I @3 N 3925/ azel

[

pi=3.1416

[

area=pi X r X r

!

print area
q R AT T ATAG LIoPTR:
Twrsics WIRFAG Rrwcsa R feafs B s e = o fagge:

AN (Fre:

#include<stdio.h>

int main()

{

intc, n,s;
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printf("\n Enter the value of n: ");
scanf("%d", &n);
s=0;
for (c=3;c<=n;c=c+3)
{
S=S+C;
by
printf("\n The Sum of the Series is %d ",s);
return O;
RIGE
Enter the value of n: 18
The Sum of the Series is:63
AT G0
TWoIF-50 TG TQAG-205

TERICAE I FMCNR IER fored | FIREE I397 NMGR IR (G0 A6 27 @ | Fifvewg 3397 X I=7 |
. (@R o Token 2
<, FHBHAG 8 STRCACIT U -] 34 |
o, Fifeca I el T Syersifzms fore |
9, (SR 9207 [0 &y BT S/ el Io41 99 |

e T&d

w 6 LU v

P TR T Teq

TR ST (AR @717 2fsls w2 & G Token | @=: int ¢, n,S;
| @S “int’, °, ‘¢, n’, ¢ s offefo « @6 Token |

Y R T TeT
FEF 8 ZHRCADE TOAR AW (A 58 GAT 9F 77 | IR 77 (@I GFAC WgqM A,
SORCATE 3 #IRH G 12 P WM P | I T GFANC AW FCF | STRCGIA (FICAT T2 9o
(oICeT T FIZCFR T W 0 | TG % A (A3 (IR (B THRCATE F© FIG B | GFAIF FNZT
FAR A (ST FIZ TR 2ATAG & T | AR BIRCGICRR (@ oI o AT = |

N TR AT TR TG LR
qrf-y : (FRIeNE O |
qrol-3 : E99 2 Nadim @3 307 X @3 S+ @2 |
g0 : @ roll @ T 1 At 30 @3 Wowy == A Group =J |
g4-8 : @4 Faim a3 Y @3 W i@ #5610 Y =X+5 e s« |
gA-¢ : @49 Y G T &qneT B |

qrof-q : TR 1 |
q TR SCE TECH ATAGAH Q7P
TS (e 921 efeae &y 51 ST Gl CoTer =T o fmge:
TR (Fre:
#include<stdio.h>
int main()

{
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int a,b;

printf("\n Enter the age of Nadim: ");
scanf("%d", &a);

b=3*3;

printf("\n The Age of Zerin is: %d ",b);
return O;

b

FeIpeT:

Enter the age of Nadim: 10

The Age of Zerin is: 30

CTE Y8

TwI#F-58 TIFT. A3, PITo @ Merer@ @re-205b

e @ler efsfreom smw @fiw #reditre A, B 8 C W ow a1 29 | @@ 799 1 At 30 =/ A
weeT, 31 (@cF 60 %8 B weet @3k 61 (3t 100 »~fs C W Seee T(F |

F. JAET (2T 2

4, 71 935 @ etIbe Sra-afeT @<

o, TWIACF SRS WeT AT & SR @74 |

q. 57 o ST GOOIs I I W VI G T O GG (A 5 9 |

e T&d

w 6 LU v

P TR TR Teq
T SR 2R (RN I 2 6 I e = |
q TR AT Teq
C & &1 EFEIe @RifiR (C5T 31 &3 | BFe- C (@RITNF 7 (@RI (R0 JTo SHeq 710 =3 | =il C
Al (] GG | TS SHRAR S AR AT A SHICRET ORIF A IO T | SHREI O
COT TS (RIT QTOF (A [{iOg (B6T B2 7z e a1 0 |
o TR ACHT TR ATAS LIoPTR:
WIS Ve 200 Sy ST (oTRT 20T, o famgat:
qrf-y : (FRICNE O |
qro-3 : T3 2t roll @3 i a=et |
g0 : @3 roll @ TIT 1 At 30 @3 oWy == A Group =J |
qr-8 : @3 roll ¢ = 31 At 60 @3 ewy == B Group 23 |
g-¢ = @39 roll @a W5 61 3t 10093 ey =051 C Group =31 |
g7-v : 5= The Student roll is Out of Range aw 3 |
q9-9 : TN 9 |

q R SCH TECH ATAGAH Q7P
TalAE 1 SRR ST COBTE AR FCI W 15 S 7 ST (AN 7T 20 of fimg:
A (Pre:
#include<stdio.h>
int main()

{

int roll;
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printf("\n Enter the Roll of Student: ");
scanf("%d",&roll);

if ((roll>=1) && (roll<=30))

{

printf(*\n The Student is A Group");
b

else if ((roll>=30) && (roll<=60))

{

printf("\n The Student is B Group");
b

else if ((roll>=61) && (roll<=100))
{

printf("\n The Student is C Group");

¥

else

{
printf("\n The Student roll is Out of Range");

¥

return O;

}

TP

Enter the Roll of Student: 30

The Student is A Group

AT YH:v¢

Tw7IB-5¢ AT, FET, BB @ IR @E-205b

o TR T W3R eeTETd BB WTs:-
#include<stdio.h>

int main ()

t
inti, sum,n;
printf("\n Enter the value of n");
scanf ("%d",&n);
sum = 0;
for (i=1; i<=n; i++)
sum=sum-i;
printf (*\n sun of all numbers from 1 to % d is =%d",n,sum);
getch ();
return O;

}

ER L

. TPEACTH (P FACO 2
o, T @GR S e |
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q. TP (FICT 3% 7R A0S do white o 529 63 @b fore | 8

e+ Teq

F TR THT O&d
(NI WG TR FIE | G5 NN 0T @ Newa FAe (@67 A 27 | @ [ 57 |

q TR AT T
T AR #1F (@l AfoFeid F6 S0 e Run Program 39 &3 | & oRics F0ed &= {fog
famafer e e 03 THOF Cofd 91 = | TR (RN THCACHH @ =7 | TR SR afsfG «ieet
RIS *MCF, AT, TG Ie Tofi Afols G @lia THECTHR Seee | qowy (@RI A4,
TR AT 3T (AT TR FICAT SRR AT TS =T CHACH SOfS TSI |

N TR AT TR TG TR
TR (ARACTT IS ZCAN 14243+ +n Fifte® @ el /a1 | oz @t syEeims
Torgroi 41 =0
qrof-y (I &P |
qrof-8 : 3990 fRea N @9 W g7 |
-0 QT @ SUM G FISTIE i, Twd W9 sum =0, i =1
qr9f-8 : SUM B&1CHT N SUM = Sum + i SRR @oes @R C oI I i = i +1 |
q7-¢ : | I W &fS[ N @7 AL oo Fh0 J(A | W, (RIT T I 2, ORRGT 7ST 4rf
2lfe
ol TR 8-9 f3F(F AT | WA 7S 4T H |
oY : e ofR sUm @3 T 2vT I |
«ro-q : TR (47 |

qI9-q : (RN (T 19 R AT SO QTAGNT QPR
TwC (afaces 321 s eey 57 S/ el w7l =6 o foage:
A (Fre:
#include<stdio.h>
int main ()
t
inti, sum, n;
printf("\n Enter the value of n:");
scanf ("%d",&n);
sum = 0;
I=1;
do
{ |
sum=sum-i;
i++;
Iwhile(i<=n);

printf ("\n sun of all numbers from 1 to % d is =%d",n,sum);
return O;

P
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TP

Enter the value of n:");5

sun of all numbers from1to 5is: 15
T Y:dv

Th7B-5b THPT [@S-205b

f6a TRIF0 AG e TR TG Wie:-
main ()
{
int ab
float avg;
print (“Enter any two number”)
scanf (“%d %d”, & a &b);
avg = (“\n a +b) /2;
print (“%d”, avg);
3. 5T @FIviE 52
4. feair «@fs &fbeT @ TR AT FTAR-IFTT 7 |
o, (RIS STerHTee 3 P (D @9 |
9. # include < stdio.h> @ T TwtE @3 @O AT 9 |

T T&d

w 6 LU v

P TR AT TR
T TFIBICES AT TR TG SRS TECST 90 KA1 AR SIS PG GFIbTs A0 |

¥ R AT T
TR (T 1 BfT® S0 AT O =1 =7 A#(Bug) | TS q9iCF L FACE I = [T |
(@R FFAES T, @G oo 8 fdizEriee g1 AF | U 0y FIFTS T A0 ISR Error
Message (¥ G (RITT TR I T AR S SN (A | QT FRCHL FT ACATF IPICOR (i
i 307 | g @ifes ¢ e =T SIE0R @itar Error Message ™3 =1 58 Fe1izel oo emf*o 27
©IZ UZ AR O IRCATL e GO IR 7 HANCHA |

o TR ATHT TGRR ATAG LIoPTR:
TR TR FF W0 TG T4 20
A (Fre:
#include<stdio.h>
int main ()
{
int a,b;
float avg;
printf ("\nEnter any two number");
scanf ("%d %d", &a, &b);
avg = (a+b)/2;
printf("\n The Average is %.2f",avg);
return O;
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}
T

Enter any two number: 5 15
The Average is 10.00

q TR AT SO AR LT
# include < stdio.h> =T sIR@S #1271 | # include RRCPR TIREIETST TG U8 FIA0 (ARITT
RYS 1 = | &b 7 (2Rt ooy P12 29 Faco =7 | stdio.h FIReR G@qoT=+ ==M.h |
# include < stdio.h> =120 ; @3 TGTT 17 = | 97 TR =0T A6 B (@™ @I e 73, e
CPICT GBOC =3 | T (AT TR G35 I T el R e 61 | @ FIREH o
FrseprgR =ee: printf (),scanf() 1 @2 scanf() I9=® = A0 EHOGICER &, e printf
)5z = G5 EHocNcos &+ | # include < stdio.h> ity g 91 A1=6e=T printf () @ scanf()
FRH ey FACS 1 |
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